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１ 次の計算をしなさい。 

①   dcba                  ②  (𝑎 + 2)(𝑏 + 3) 
 

 

 

 

③   64  yx                                ④ (𝑎 + 6)(𝑏 − 4)  

 

 

 

 

⑤   413  aa                 ⑥   322  aa  

 

 

 

 

⑦   134  aa                 ⑧   3572  xx  

 

 

 

 

⑨   baba 2                 ⑩   yxyx 2743   

 

 

 

⑪   baba 3456                ⑫ 
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２ Aさんは(8𝑎 − 6𝑏)(8𝑎 + 4𝑏)を下のように計算した。間違っている部分に○をつけ、正しい答えを求めな 

さい。 

間違った計算 

   (8𝑎 − 6𝑏)(8𝑎 + 4𝑏) 
    = (8𝑎)2 + (−6𝑏 + 4𝑏) × 𝑎 + (−6𝑎) × 4𝑏 
      = 64𝑎2 − 2𝑎𝑏 − 24𝑏2 

                               正しい答え            
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